BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539

CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024 LJA ENGINEERING, INC. E. MURPHY JUNE 6, 2024

0390-2321 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE ITEMS
1) BAY UTILITIES. LLC	\$2,184,045.40	\$2,345,687.40
2) DIMAS BROS. CONSTRUCTION	\$2,198,000.00	\$2,395,332.40
3) TEXASITE, LLC	\$2,248,316.00	\$2,443,381.00
4) BLAZEY CONSTRUCTION SERVICES LLC	\$2,253,734.90	\$2,441,238.40
5) CROSTEX CONSTRUCTION INC.	\$2,350,000.00	\$2,480,307.00
6) CE BARKER LTD.	\$2,487,425.18	\$2,669,867.18
7) ICON GC LLC	\$2,595,000.00	\$2,868,265.50

### CALENDAR DAYS 95/105



I, Kyle T. Kraus, PE, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024

LJA ENGINEERING, INC. E. MURPHY JUNE 6, 2024 0390-2321 (9.2)

<u></u> /		-	1) BAY UTILIT	TES. LLC	2) DIMAS BROS. CO	ONSTRUCTION	3) TEXASIT	ΓE, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ANNISTON SECTION 12 WATER ITEMS								
1 8" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING FITTINGS, COMPLETE IN PLACE	LF	3294	\$37.00	\$121,878.00	\$41.00	\$135,054.00	\$36.00	\$118,584.00
2 RESTRAINED JOINT 8" PVC WATER LINE, AWWA C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	2045	\$51.00	\$104,295.00	\$62.00	\$126,790.00	\$58.00	\$118,610.00
3 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	16	\$1,900.00	\$30,400.00	\$1,588.00	\$25,408.00	\$1,932.00	\$30,912.00
4 8" PLUG AND CLAMP WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	3	\$1,900.00	\$5,700.00	\$784.00	\$2,352.00	\$1,700.00	\$5,100.00
5 FLUSHING VALVE, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	12	\$5,600.00	\$67,200.00	\$5,215.00	\$62,580.00	\$5,438.00	\$65,256.00
6 WET CONNECTION (ALL SIZES), INCLUDES REMOVAL AND DISPOSAL OF EXISTING PLUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE, COMPLETE IN PLACE	EA	3	\$2,000.00	\$6,000.00	\$495.00	\$1,485.00	\$1,505.00	\$4,515.00
7 12" STEEL CASING FOR 8" PVC PIPE, EXCLUDES CARRIER PIPE, INCLUDES FITTINGS, SPACERS, AND PLUGS, ALL DEPTHS, COMPLETE IN PLACE	LF	248	\$72.00	\$17,856.00	\$49.00	\$12,152.00	\$57.00	\$14,136.00
8 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	5399	\$0.10	\$539.90	\$1.00	\$5,399.00	\$1.00	\$5,399.00
ANNISTON SECTION 12 WATER ITEMS SUBTOTAL:				\$353,868.90		\$371,220.00		\$362,512.00
ANNISTON SECTION 12 SANITARY SEWER ITEMS								
1 8" PVC SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 0'-8" CUT, COMPLETE IN PLACE	LF	688	\$50.00	\$34,400.00	\$50.00	\$34,400.00	\$43.00	\$29,584.00
2 8" PVC SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETE IN PLACE	LF	2060	\$52.00	\$107,120.00	\$50.00	\$103,000.00	\$44.00	\$90,640.00
3 8" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	1412	\$64.00	\$90,368.00	\$60.00	\$84,720.00	\$55.00	\$77,660.00
4 6" SANITARY FORCE MAIN, AWWA C-900, CLASS 235, DR 18, ALL DEPTHS, COMPLETE IN PLACE	LF	1276	\$33.00	\$42,108.00	\$35.00	\$44,660.00	\$38.00	\$48,488.00
5 RESTRAINED JOINT 6" SANITARY FORCE MAIN, AWWA C-900, CLASS 305, DR 14, COMPLETE IN PLACE	LF	180	\$34.00	\$6,120.00	\$48.00	\$8,640.00	\$54.00	\$9,720.00
6 PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	28	\$3,000.00	\$84,000.00	\$2,635.00	\$73,780.00	\$3,100.00	\$86,800.00
7 EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), COMPLETE IN PLACE	VF	78	\$150.00	\$11,700.00	\$138.00	\$10,764.00	\$195.00	\$15,210.00
8 STANDARD 8" SANITARY SEWER DROP ON M.H. (0'-3'), COMPLETE IN PLACE	EA	4	\$800.00	\$3,200.00	\$1,115.00	\$4,460.00	\$1,229.00	\$4,916.00
9 EXTRA DEPTH FOR ALL SANITARY DROP STRUCTURES AT MANHOLE (OVER 3' DEPTH), ALL SIZES, COMPLETE IN PLACE	VF	6	\$30.00	\$180.00	\$15.00	\$90.00	\$35.00	\$210.00
10 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1876	\$61.00	\$114,436.00	\$61.45	\$115,280.20	\$61.00	\$114,436.00
11 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	28	\$1,500.00	\$42,000.00	\$1,360.00	\$38,080.00	\$1,905.00	\$53,340.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024

JUNE 6, 2024 LJA ENGINEERING, INC. E. MURPHY JUNE 6, 2024 0390-2321 (9.2)

-0.002.00		_	1) BAY UTILI	TIES. LLC	2) DIMAS BROS. C	ONSTRUCTION	3) TEXASIT	E. LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
12 1" AIR RELEASE VALVE ASSEMBLY FOR SANITARY FORCEMAIN, INCLUDES SERVICE MANHOLE, COMPLETE IN PLACE	EA	1	\$9,000.00	\$9,000.00	\$8,400.00	\$8,400.00	\$13,045.00	\$13,045.00
13 6" PLUG, COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$100.00	\$100.00	\$685.00	\$685.00
14 CONNECT PROPOSED 8" PVC SEWER PIPE TO EXISTING SANITARY SEWER MANHOLE, (CORE DRILL), COMPLETE IN PLACE	EA	3	\$3,800.00	\$11,400.00	\$1,200.00	\$3,600.00	\$685.00	\$2,055.00
15 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	7817	\$1.00	\$7,817.00	\$1.00	\$7,817.00	\$1.00	\$7,817.00
ANNISTON SECTION 12 SANITARY SEWER ITEMS SUBTOTAL:				\$564,249.00		\$537,791.20		\$554,606.00
ANNISTON SECTION 12 OFF-SITE SANITARY SEWER ITEMS								
1 6" SANITARY FORCE MAIN, AWWA C-900, CLASS 235, DR 18, ALL DEPTHS, INCLUDES FITTINGS, COMPLETE IN PLACE	LF	206	\$33.00	\$6,798.00	\$37.35	\$7,694.10	\$33.00	\$6,798.00
2 RESTRAINED JOINT 6" SANITARY FORCE MAIN, AWWA C-900, CLASS 305, DR 14 INCLUDES RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	, LF	111	\$38.00	\$4,218.00	\$46.35	\$5,144.85	\$43.00	\$4,773.00
3 PRECAST CORROSION RESISTANT SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$8,200.00	\$8,200.00	\$6,000.00	\$6,000.00	\$3,100.00	\$3,100.00
4 1" AIR RELEASE VALVE ASSEMBLY FOR SANITARY FORCEMAIN, INCLUDES SERVICE MANHOLE, COMPLETE IN PLACE	EA	1	\$9,000.00	\$9,000.00	\$8,400.00	\$8,400.00	\$13,045.00	\$13,045.00
5 CONNECT PROPOSED 12" PVC SEWER PIPE TO EXISTING SANITARY SEWER MANHOLE, (CORE DRILL), COMPLETE IN PLACE	EA	2	\$4,200.00	\$8,400.00	\$1,200.00	\$2,400.00	\$1,505.00	\$3,010.00
6 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	317	\$0.10	\$31.70	\$1.00	\$317.00	\$1.00	\$317.00
ANNISTON SECTION 12 OFF-SITE SANITARY SEWER ITEMS SUBTOTAL:				\$36,647.70		\$29,955.95		\$31,043.00
SANITARY SEWER ITEMS FOR LIFT STATION NO. 2 OFF-SITE SANITARY								
1 12" PVC SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 0'-8" CUT, COMPLETE IN PLACE	LF	181	\$54.00	\$9,774.00	\$65.00	\$11,765.00	\$55.00	\$9,955.00
2 12" PVC SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETE IN PLACE	LF	703	\$55.00	\$38,665.00	\$65.00	\$45,695.00	\$56.00	\$39,368.00
3 12" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12"-16" CUT, COMPLETE PLACE	N LF	164	\$74.00	\$12,136.00	\$80.00	\$13,120.00	\$76.00	\$12,464.00
4 12" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLETE PLACE	N LF	799	\$89.00	\$71,111.00	\$95.00	\$75,905.00	\$78.00	\$62,322.00
5 PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWE PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	R LF	6	\$3,100.00	\$18,600.00	\$3,558.00	\$21,348.00	\$3,100.00	\$18,600.00
6 EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), COMPLETE IN PLACE	VF	41	\$150.00	\$6,150.00	\$138.00	\$5,658.00	\$195.00	\$7,995.00
7 VENTED SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENT COMPLETE IN PLACE	EA S,	1	\$5,100.00	\$5,100.00	\$4,200.00	\$4,200.00	\$2,996.00	\$2,996.00
8 STANDARD 12" SANITARY SEWER DROP ON M.H. (0'-3'), COMPLETE IN PLACE	EA	3	\$2,400.00	\$7,200.00	\$2,165.00	\$6,495.00	\$1,795.00	\$5,385.00
9 EXTRA DEPTH FOR ALL SANITARY DROP STRUCTURES AT MANHOLE (OVER 3' DEPTH), ALL SIZES, COMPLETE IN PLACE	VF	3	\$60.00	\$180.00	\$50.00	\$150.00	\$35.00	\$105.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JUNE 6, 2024

JUNE 6, 2024 LJA ENGINEERING, INC. E. MURPHY JUNE 6, 2024 0390-2321 (9.2)

				1) BAY UTILIT	TES. LLC	2) DIMAS BROS. C	ONSTRUCTION	3) TEXASIT	E, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 HYDROMULCH SEEDING OF BY THE ENGINEER), COMPLE	DISTURBED AREAS (TO BE USED ONLY AS DIRECTED IN PLACE	AC	1	\$2,300.00	\$2,300.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
11 TRENCH SAFETY, ALL DEPTH	HS, COMPLETE IN PLACE	LF	1847	\$1.00	\$1,847.00	\$1.00	\$1,847.00	\$1.00	\$1,847.00
SANITARY SEWER ITEMS FOR LIFT	STATION NO. 2 OFF-SITE SANITARY SUBTOTAL:				\$173,063.00		\$187,183.00		\$162,037.00
SANITARY SEWER ITEMS FOR LIFT	STATION NO. 3 OFF-SITE FORCE MAIN								
1 10" SANITARY FORCE MAIN INCLUDES FITTINGS, COMPL	AWWA C-900, CLASS 235, DR 18, ALL DEPTHS, ETE IN PLACE	LF	2307	\$48.00	\$110,736.00	\$58.00	\$133,806.00	\$55.00	\$126,885.00
	TARY FORCE MAIN, AWWA C-900, CLASS 305, DR 14, NT FITTINGS, COMPLETE IN PLACE	LF	302	\$111.00	\$33,522.00	\$80.00	\$24,160.00	\$94.00	\$28,388.00
3 10" PLUG, COMPLETE IN PLA	CE	EA	2	\$260.00	\$520.00	\$700.00	\$1,400.00	\$510.00	\$1,020.00
4 10" ISOLATION VALVE & BOX	, COMPLETE IN PLACE	EA	1	\$3,300.00	\$3,300.00	\$2,600.00	\$2,600.00	\$3,050.00	\$3,050.00
5 1" AIR RELEASE VALVE ASSE SERVICE MANHOLE, COMPLI	EMBLY FOR SANITARY FORCEMAIN, INCLUDES ETE IN PLACE	EA	3	\$12,200.00	\$36,600.00	\$12,150.00	\$36,450.00	\$16,262.00	\$48,786.00
UNDER EXISTING CENTERPO	AND JACK PROPOSED 10" SANITARY FORCE MAIN DINT ENERGY GAS LINE AND CONSOLIDATED STING KATY HOCKLEY ROAD, (DOES NOT INCLUDE	LF	73	\$100.00	\$7,300.00	\$84.00	\$6,132.00	\$305.00	\$22,265.00
7 HYDROMULCH SEEDING OF BY THE ENGINEER), COMPLE	DISTURBED AREAS (TO BE USED ONLY AS DIRECTED IN PLACE	AC	1	\$2,300.00	\$2,300.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
8 TRENCH SAFETY, ALL DEPTH	HS, COMPLETE IN PLACE	LF	2536	\$0.10	\$253.60	\$1.00	\$2,536.00	\$1.00	\$2,536.00
SANITARY SEWER ITEMS FOR LIFT	STATION NO. 3 OFF-SITE FORCE MAIN SUBTOTAL:				\$194,531.60		\$208,084.00		\$233,930.00
ANNISTON SECTION 12 STORM SE	WER ITEMS								
1 24" RCP STORM SEWER, AST	M C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	656	\$80.00	\$52,480.00	\$92.00	\$60,352.00	\$89.00	\$58,384.00
2 30" RCP STORM SEWER, AST	M C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	211	\$106.00	\$22,366.00	\$115.00	\$24,265.00	\$117.00	\$24,687.00
3 42" RCP STORM SEWER, AST	M C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	50	\$197.00	\$9,850.00	\$200.00	\$10,000.00	\$223.00	\$11,150.00
4 24" POLYPROPYLENE PIPE,	AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	2799	\$60.00	\$167,940.00	\$67.00	\$187,533.00	\$59.00	\$165,141.00
5 30" POLYPROPYLENE PIPE, A	AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	637	\$80.00	\$50,960.00	\$88.00	\$56,056.00	\$82.00	\$52,234.00
6 36" POLYPROPYLENE PIPE, A	AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	201	\$89.00	\$17,889.00	\$98.00	\$19,698.00	\$91.00	\$18,291.00
7 42" POLYPROPYLENE PIPE, A	AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	135	\$108.00	\$14,580.00	\$128.00	\$17,280.00	\$113.00	\$15,255.00
8 STAGE I – STANDARD 5' REIN ALL DEPTHS, COMPLETE IN I	IFORCED CONCRETE PRECAST INLET, TYPE "B-B", PLACE	EA	33	\$2,500.00	\$82,500.00	\$1,141.00	\$37,653.00	\$1,872.00	\$61,776.00
9 STAGE II – STANDARD 5' REI COMPLETE IN PLACE	NFORCED CONCRETE PRECAST INLET, TYPE "B-B",	EA	33	\$1,000.00	\$33,000.00	\$2,022.00	\$66,726.00	\$1,872.00	\$61,776.00
10 STAGE I – STANDARD 10' RE ALL DEPTHS, COMPLETE IN I	INFORCED CONCRETE PRECAST INLET, TYPE "C-1", PLACE	EA	2	\$2,500.00	\$5,000.00	\$1,550.00	\$3,100.00	\$1,872.00	\$3,744.00
11 STAGE II – STANDARD 10' RE COMPLETE IN PLACE	INFORCED CONCRETE PRECAST INLET, TYPE "C-1",	EA	2	\$1,100.00	\$2,200.00	\$2,358.00	\$4,716.00	\$2,925.00	\$5,850.00
	LE FOR 42" STORM SEWER AND SMALLER, ALL MENTS, COMPLETE IN PLACE	EA	35	\$2,700.00	\$94,500.00	\$2,584.00	\$90,440.00	\$3,744.00	\$131,040.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

PLACE

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JUNE 6, 2024
LJA ENGINEERING, INC.
E. MURPHY

				1) BAY UTILI	TIES. LLC	2) DIMAS BROS. C	ONSTRUCTION	3) TEXASI	ΓE, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, DES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$3,700.00	\$22,200.00	\$3,884.00	\$23,304.00	\$5,148.00	\$30,888.00
	OARD TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER WITH IE" INLET TOP, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN :	EA	2	\$3,200.00	\$6,400.00	\$2,684.00	\$5,368.00	\$3,978.00	\$7,956.00
	RACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE AND CONNECT DSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	1	\$2,100.00	\$2,100.00	\$341.20	\$341.20	\$685.00	\$685.00
	VE AND DISPOSE OF EXISTING TYPE "E" INLET TOP AND REPLACE WITH C" MANHOLE TOP, COMPLETE IN PLACE	EA	2	\$2,600.00	\$5,200.00	\$800.00	\$1,600.00	\$878.00	\$1,756.00
17 TREN	CH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	4689	\$0.10	\$468.90	\$1.00	\$4,689.00	\$1.00	\$4,689.00
ANNISTON S	ECTION 12 STORM SEWER ITEMS SUBTOTAL:				\$589,633.90		\$613,121.20		\$655,302.00
ANNISTON S	ECTION 12 OFF-SITE STORM SEWER ITEMS								
1 48" PC	LYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	978	\$130.00	\$127,140.00	\$135.80	\$132,812.40	\$147.00	\$143,766.00
2 54" RC	P STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	135	\$312.00	\$42,120.00	\$325.20	\$43,902.00	\$344.00	\$46,440.00
	C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, DES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$3,900.00	\$23,400.00	\$3,975.00	\$23,850.00	\$5,148.00	\$30,888.00
	RACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE AND CONNECT DSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	1	\$3,100.00	\$3,100.00	\$506.20	\$506.20	\$685.00	\$685.00
	OMULCH SEEDING OF DISTURBED AREAS (TO BE USED ONLY AS DIRECTED E ENGINEER), COMPLETE IN PLACE	AC	1	\$2,300.00	\$2,300.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
6 TREN	CH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	1113	\$0.10	\$111.30	\$1.00	\$1,113.00	\$1.00	\$1,113.00
ANNISTON S	ECTION 12 OFF-SITE STORM SEWER ITEMS SUBTOTAL:				\$198,171.30		\$203,183.60		\$223,892.00
MISCELLAN	EOUS ITEMS								
OF UT VACUI PUMP	TERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION ILITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL IM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF NG AS NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, EUSED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
CITY	AND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PER OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AT THE WRITTEN TION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
CITY	AND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AT THE WRITTEN TION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
LABOR	STMENT TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES A AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, E USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE CE	EA	1	\$150.00	\$150.00	\$300.00	\$300.00	\$150.00	\$150.00
	HED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE (TO BE ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN	EA	1	\$5.00	\$5.00	\$200.00	\$200.00	\$5.00	\$5.00

JUNE 6, 2024

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JUNE 6, 2024

LA ENGINEERING. INC.

LJA ENGINEERING, INC. E. MURPHY JUNE 6, 2024 0390-2321 (9.2)

ESA SOB NO.			1) BAY UTILIT	TIES. LLC	2) DIMAS BROS. CO	ONSTRUCTION	3) TEXASIT	TE. LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
6 UTILITY SPOILS FROM SECTION 12 UTILITIES TO REMAIN ON SITE, PLACED IN FRONT OF LOTS WITHIN SECTION 12, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$30,000.00	\$30,000.00	\$23,000.00	\$23,000.00	\$5,000.00	\$5,000.00
7 OFF-SITE UTILITY SPOILS TO REMAIN IN PLACE, MAINTAINING POSITIVE DRAINAGE, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00
8 EXTRA DUCTILE IRON FITTINGS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
9 FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	250	\$2.30	\$575.00	\$1.00	\$250.00	\$1.00	\$250.00
10 HYDROMULCH SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$2,300.00	\$2,300.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
11 SURFACE WATER CONTROL AND PUMPING, INCLUDES ALL PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$1.00	\$1.00
12 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS INCLUDING STREET SWEEPING, AND CONCRETE WASHOUT, COMPLETE IN PLACE	i, LS	1	\$2,000.00	\$2,000.00	\$621.05	\$621.05	\$1,755.00	\$1,755.00
13 CONSTRUCT, MAINTAIN AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	LS	3	\$2,900.00	\$8,700.00	\$800.00	\$2,400.00	\$200.00	\$600.00
14 BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,200.00	\$1,200.00	\$500.00	\$500.00	\$500.00	\$500.00
15 STAGE I INLET PROTECTION BARRIERS, COMPLETE IN PLACE	EA	49	\$50.00	\$2,450.00	\$10.00	\$490.00	\$117.00	\$5,733.00
16 EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	) CY	100	\$20.00	\$2,000.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00
17 CONTRACTOR TO CONNECT PROPOSED STORM SEWER INTO EXISTING STORM MANHOLE, INCLUDES REMOVAL AND REPLACEMENT OF EXISTING STORM MANHOLE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	2	\$5,000.00	\$10,000.00	\$3,600.00	\$7,200.00	\$500.00	\$1,000.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$73,880.00		\$47,461.05		\$24,994.00
ALTERNATE ITEMS		•						
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #4, COMPLETE IN PLAC		2799	\$77.00	\$215,523.00	\$92.20	\$258,067.80	\$85.00	\$237,915.00
2 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #5, COMPLETE IN PLAC		637	\$100.00	\$63,700.00	\$114.00	\$72,618.00	\$108.00	\$68,796.00
3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #6, COMPLETE IN PLAC		201	\$136.00	\$27,336.00	\$155.00	\$31,155.00	\$120.00	\$24,120.00
4 42" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #7, COMPLETE IN PLAC		135	\$180.00	\$24,300.00	\$199.00	\$26,865.00	\$201.00	\$27,135.00
5 48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 OFF-SITE STORM SEWER ITEMS – ITEM #1, COMPLET IN PLACE		978	\$214.00	\$209,292.00	\$227.00	\$222,006.00	\$237.00	\$231,786.00
ALTERNATE ITEMS SUBTOTAL:				\$540,151.00		\$610,711.80		\$589,752.00

BIDDING SUMMARY

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JUNE 6, 2024
LJA ENGINEERING, INC.
E. MURPHY

				1) BAY	UTILITIES. LLC	2) DIMAS BROS.	2) DIMAS BROS. CONSTRUCTION		SITE, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SUBTOTAL ANNISTON SECTION 12 WA	ATER ITEMS				\$353,868.90		\$371,220.00		\$362,512.00
SUBTOTAL ANNISTON SECTION 12 SA	NITARY SEWER ITEMS				\$564,249.00		\$537,791.20		\$554,606.00
SUBTOTAL ANNISTON SECTION 12 OF	F-SITE SANITARY SEWER ITEMS				\$36,647.70		\$29,955.95		\$31,043.00
SUBTOTAL SANITARY SEWER ITEMS F	FOR LIFT STATION NO. 2 OFF-SITE SANITARY				\$173,063.00		\$187,183.00		\$162,037.00
SUBTOTAL SANITARY SEWER ITEMS F	FOR LIFT STATION NO. 3 OFF-SITE FORCE MAIN				\$194,531.60		\$208,084.00		\$233,930.00
SUBTOTAL ANNISTON SECTION 12 ST	ORM SEWER ITEMS				\$589,633.90		\$613,121.20		\$655,302.00
SUBTOTAL ANNISTON SECTION 12 OF	F-SITE STORM SEWER ITEMS				\$198,171.30		\$203,183.60		\$223,892.00
SUBTOTAL MISCELLANEOUS ITEMS					\$73,880.00		\$47,461.05		\$24,994.00
TOTAL AMOUNT BASE BID					\$2,184,045.40		\$2,198,000.00		\$2,248,316.00
ALTERNATE ITEMS									
TOTAL AMOUNT BASE BID					\$2,184,045.40		\$2,198,000.00		\$2,248,316.00
DEDUCT ANNISTON SECTION 12 STOR	RM SEWER ITEMS ITEM NO.4				-\$167,940.00		-\$187,533.00		-\$165,141.00
DEDUCT ANNISTON SECTION 12 STOR	RM SEWER ITEMS ITEM NO.5				-\$50,960.00	<b>V</b>	-\$56,056.00		-\$52,234.00
DEDUCT ANNISTON SECTION 12 STOR	RM SEWER ITEMS ITEM NO.6				-\$17,889.00		-\$19,698.00		-\$18,291.00
DEDUCT ANNISTON SECTION 12 STOR	RM SEWER ITEMS ITEM NO.7				-\$14,580.00		-\$17,280.00		-\$15,255.00
DEDUCT ANNISTON SECTION 12 OFF-	SITE STORM SEWER ITEMS ITEM NO.1				-\$127,140.00		-\$132,812.40		-\$143,766.00
SUBTOTAL ALTERNATE ITEMS					\$540,151.00		\$610,711.80		\$589,752.00
TOTAL AMOUNT INCLUDING ALTERNA	ATE ITEMS				\$2,345,687.40		\$2,395,332.40		\$2,443,381.00

JUNE 6, 2024

0390-2321 (9.2)

Page 7 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE

IN PLACE

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS

JUNE 6, 2024 LJA ENGINEERING, INC. E. MURPHY

JUNE 6, 2024

			4	) BLAZEY CONSTRUCT	ION SERVICES LLC	5) CROSTEX CONST	TRUCTION INC.	6) CE BARK	ER LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ANNISTON	SECTION 12 WATER ITEMS								
	C WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING NGS, COMPLETE IN PLACE	LF	3294	\$36.00	\$118,584.00	\$32.00	\$105,408.00	\$50.00	\$164,700.00
	RAINED JOINT 8" PVC WATER LINE, AWWA C-900, DR 14, CLASS 305, ALL HS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	2045	\$58.00	\$118,610.00	\$55.00	\$112,475.00	\$67.00	\$137,015.00
3 8" AW	/WA GATE VALVE & BOX, COMPLETE IN PLACE	EA	16	\$1,859.00	\$29,744.00	\$1,800.00	\$28,800.00	\$1,810.00	\$28,960.00
4 8" PLI	UG AND CLAMP WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	3	\$1,674.00	\$5,022.00	\$1,400.00	\$4,200.00	\$1,600.00	\$4,800.00
	HING VALVE, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	12	\$5,530.00	\$66,360.00	\$5,800.00	\$69,600.00	\$5,210.00	\$62,520.00
EXIST	CONNECTION (ALL SIZES), INCLUDES REMOVAL AND DISPOSAL OF TING PLUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT POSED WATER LINE TO EXISTING WATER LINE, COMPLETE IN PLACE	EA	3	\$984.00	\$2,952.00	\$1,500.00	\$4,500.00	\$1,000.00	\$3,000.00
	TEEL CASING FOR 8" PVC PIPE, EXCLUDES CARRIER PIPE, INCLUDES NGS, SPACERS, AND PLUGS, ALL DEPTHS, COMPLETE IN PLACE	LF	248	\$77.00	\$19,096.00	\$70.00	\$17,360.00	\$100.00	\$24,800.00
8 TREN	ICH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	5399	\$0.30	\$1,619.70	\$1.05	\$5,668.95	\$0.01	\$53.99
ANNISTON	SECTION 12 WATER ITEMS SUBTOTAL:				\$361,987.70		\$348,011.95		\$425,848.99
ANNISTON	SECTION 12 SANITARY SEWER ITEMS								
1 8" PV PLAC	C SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 0'-8' CUT, COMPLETE IN E	LF	688	\$40.50	\$27,864.00	\$37.00	\$25,456.00	\$55.00	\$37,840.00
2 8" PV PLAC	C SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETE IN E	LF	2060	\$43.60	\$89,816.00	\$38.00	\$78,280.00	\$60.00	\$123,600.00
3 8" PV PLAC	C SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN E	LF	1412	\$59.00	\$83,308.00	\$41.00	\$57,892.00	\$65.00	\$91,780.00
	NITARY FORCE MAIN, AWWA C-900, CLASS 235, DR 18, ALL DEPTHS, PLETE IN PLACE	LF	1276	\$28.00	\$35,728.00	\$28.00	\$35,728.00	\$40.00	\$51,040.00
	RAINED JOINT 6" SANITARY FORCE MAIN, AWWA C-900, CLASS 305, DR 14, PLETE IN PLACE	LF	180	\$45.00	\$8,100.00	\$35.00	\$6,300.00	\$45.00	\$8,100.00
PIPES	CAST STANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER S, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ISTMENTS, COMPLETE IN PLACE	EA	28	\$3,022.00	\$84,616.00	\$3,500.00	\$98,000.00	\$4,500.00	\$126,000.00
	A DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), PLETE IN PLACE	VF	78	\$177.00	\$13,806.00	\$350.00	\$27,300.00	\$300.00	\$23,400.00
8 STAN	IDARD 8" SANITARY SEWER DROP ON M.H. (0'-3'), COMPLETE IN PLACE	EA	4	\$1,239.00	\$4,956.00	\$1,100.00	\$4,400.00	\$1,500.00	\$6,000.00
	A DEPTH FOR ALL SANITARY DROP STRUCTURES AT MANHOLE (OVER 3' TH), ALL SIZES, COMPLETE IN PLACE	VF	6	\$41.00	\$246.00	\$50.00	\$300.00	\$150.00	\$900.00
SDR 2	G SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, K, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE ACE	LF	1876	\$81.50	\$152,894.00	\$47.00	\$88,172.00	\$60.00	\$112,560.00
	RT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER,	EA	28	\$2,014.00	\$56,392.00	\$1,730.00	\$48,440.00	\$2,100.00	\$58,800.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

DEPTH), ALL SIZES, COMPLETE IN PLACE

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS

JUNE 6, 2024 LJA ENGINEERING, INC. E. MURPHY

JUNE 6, 2024

20710021101				()					
			4)	BLAZEY CONSTRUCT	TION SERVICES LLC	5) CROSTEX CONSTRUCTION INC.		6) CE BARKER LTD.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
12 1" AIR RELEASE VALVI SERVICE MANHOLE, C	E ASSEMBLY FOR SANITARY FORCEMAIN, INCLUDES OMPLETE IN PLACE	EA	1	\$15,017.00	\$15,017.00	\$12,200.00	\$12,200.00	\$15,000.00	\$15,000.00
13 6" PLUG, COMPLETE II	N PLACE	EA	1	\$446.00	\$446.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
	8" PVC SEWER PIPE TO EXISTING SANITARY SEWER LL), COMPLETE IN PLACE	EA	3	\$2,547.00	\$7,641.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00
15 TRENCH SAFETY, ALL	DEPTHS, COMPLETE IN PLACE	LF	7817	\$0.30	\$2,345.10	\$1.10	\$8,598.70	\$0.01	\$78.17
ANNISTON SECTION 12 SAN	ITARY SEWER ITEMS SUBTOTAL:				\$583,175.10		\$497,566.70		\$660,598.17
ANNISTON SECTION 12 OFF	SITE SANITARY SEWER ITEMS								
1 6" SANITARY FORCE N INCLUDES FITTINGS, (	IAIN, AWWA C-900, CLASS 235, DR 18, ALL DEPTHS, COMPLETE IN PLACE	LF	206	\$28.00	\$5,768.00	\$39.00	\$8,034.00	\$40.00	\$8,240.00
	SANITARY FORCE MAIN, AWWA C-900, CLASS 305, DR 14, ED JOINT FITTINGS, COMPLETE IN PLACE	LF	111	\$38.00	\$4,218.00	\$45.00	\$4,995.00	\$50.00	\$5,550.00
SANITARY SEWER PIP	I RESISTANT SANITARY SEWER MANHOLE FOR 6" – 24" ES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW USTMENTS, COMPLETE IN PLACE	EA	1	\$9,316.00	\$9,316.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00
4 1" AIR RELEASE VALVI SERVICE MANHOLE, C	E ASSEMBLY FOR SANITARY FORCEMAIN, INCLUDES OMPLETE IN PLACE	EA	1	\$15,017.00	\$15,017.00	\$12,200.00	\$12,200.00	\$15,000.00	\$15,000.00
	12" PVC SEWER PIPE TO EXISTING SANITARY SEWER LL), COMPLETE IN PLACE	EA	2	\$3,270.00	\$6,540.00	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00
6 TRENCH SAFETY, ALL	DEPTHS, COMPLETE IN PLACE	LF	317	\$0.30	\$95.10	\$1.10	\$348.70	\$0.01	\$3.17
ANNISTON SECTION 12 OFF	SITE SANITARY SEWER ITEMS SUBTOTAL:				\$40,954.10		\$34,577.70		\$39,293.17
SANITARY SEWER ITEMS FO	OR LIFT STATION NO. 2 OFF-SITE SANITARY								
1 12" PVC SEWER PIPE, PLACE	ASTM D-2241, SDR 26 (PR 160), 0'-8' CUT, COMPLETE IN	LF	181	\$57.00	\$10,317.00	\$72.00	\$13,032.00	\$60.00	\$10,860.00
2 12" PVC SEWER PIPE, PLACE	ASTM D-2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETE IN	LF	703	\$60.00	\$42,180.00	\$75.00	\$52,725.00	\$65.00	\$45,695.00
3 12" PVC SEWER PIPE, PLACE	AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN	LF	164	\$83.00	\$13,612.00	\$90.00	\$14,760.00	\$90.00	\$14,760.00
4 12" PVC SEWER PIPE, PLACE	AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLETE IN	LF	799	\$102.00	\$81,498.00	\$98.00	\$78,302.00	\$95.00	\$75,905.00
	SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER LUDES STAINLESS STEEL INFLOW PROTECTOR AND LETE IN PLACE	LF	6	\$3,022.00	\$18,132.00	\$4,000.00	\$24,000.00	\$4,500.00	\$27,000.00
6 EXTRA DEPTH FOR SA COMPLETE IN PLACE	INITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH),	VF	41	\$177.00	\$7,257.00	\$400.00	\$16,400.00	\$215.00	\$8,815.00
	WER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' AINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS,	EA	1	\$5,319.00	\$5,319.00	\$6,000.00	\$6,000.00	\$5,500.00	\$5,500.00
8 STANDARD 12" SANITA	ARY SEWER DROP ON M.H. (0'-3'), COMPLETE IN PLACE	EA	3	\$1,779.00	\$5,337.00	\$3,000.00	\$9,000.00	\$2,000.00	\$6,000.00
9 EXTRA DEPTH FOR AL	L SANITARY DROP STRUCTURES AT MANHOLE (OVER 3'	VF	3	\$52.00	\$156.00	\$300.00	\$900.00	\$200.00	\$600.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS

JUNE 6, 2024 LJA ENGINEERING, INC. E. MURPHY

JUNE 6, 2024

2071002 1101			000	0 202 (0.2)					
			4)	BLAZEY CONSTRUCT	TION SERVICES LLC	5) CROSTEX CONS	STRUCTION INC.	6) CE BARK	ER LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	LCH SEEDING OF DISTURBED AREAS (TO BE USED ONLY AS DIRECTED GINEER), COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
11 TRENCH S	AFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	1847	\$0.30	\$554.10	\$1.10	\$2,031.70	\$0.01	\$18.47
SANITARY SEWE	R ITEMS FOR LIFT STATION NO. 2 OFF-SITE SANITARY SUBTOTAL:				\$185,862.10		\$218,150.70		\$196,153.47
SANITARY SEWE	R ITEMS FOR LIFT STATION NO. 3 OFF-SITE FORCE MAIN								
	RY FORCE MAIN AWWA C-900, CLASS 235, DR 18, ALL DEPTHS, FITTINGS, COMPLETE IN PLACE	LF	2307	\$44.00	\$101,508.00	\$54.00	\$124,578.00	\$55.00	\$126,885.00
	ED JOINT 10" SANITARY FORCE MAIN, AWWA C-900, CLASS 305, DR 14, RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	302	\$73.00	\$22,046.00	\$102.00	\$30,804.00	\$85.00	\$25,670.00
3 10" PLUG,	COMPLETE IN PLACE	EA	2	\$763.00	\$1,526.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00
4 10" ISOLAT	ION VALVE & BOX, COMPLETE IN PLACE	EA	1	\$2,908.00	\$2,908.00	\$7,700.00	\$7,700.00	\$6,000.00	\$6,000.00
	EASE VALVE ASSEMBLY FOR SANITARY FORCEMAIN, INCLUDES MANHOLE, COMPLETE IN PLACE	EA	3	\$18,019.00	\$54,057.00	\$15,750.00	\$47,250.00	\$15,000.00	\$45,000.00
UNDER EX	AL COST TO BORE AND JACK PROPOSED 10" SANITARY FORCE MAIN ISTING CENTERPOINT ENERGY GAS LINE AND CONSOLIDATED CATIONS AND EXISTING KATY HOCKLEY ROAD, (DOES NOT INCLUDE IPLETE IN PLACE	LF	73	\$145.00	\$10,585.00	\$125.00	\$9,125.00	\$100.00	\$7,300.00
	LCH SEEDING OF DISTURBED AREAS (TO BE USED ONLY AS DIRECTED GINEER), COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
8 TRENCH S	AFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	2536	\$0.30	\$760.80	\$1.10	\$2,789.60	\$0.01	\$25.36
SANITARY SEWE	R ITEMS FOR LIFT STATION NO. 3 OFF-SITE FORCE MAIN SUBTOTAL:			4 /	\$194,890.80		\$225,246.60		\$213,880.36
ANNISTON SECT	ION 12 STORM SEWER ITEMS								
1 24" RCP ST	ORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	656	\$79.00	\$51,824.00	\$78.00	\$51,168.00	\$88.00	\$57,728.00
2 30" RCP ST	ORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	211	\$99.00	\$20,889.00	\$98.00	\$20,678.00	\$110.00	\$23,210.00
3 42" RCP ST	ORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	50	\$189.00	\$9,450.00	\$180.00	\$9,000.00	\$250.00	\$12,500.00
4 24" POLYI	PROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	2799	\$56.50	\$158,143.50	\$62.00	\$173,538.00	\$75.00	\$209,925.00
5 30" POLYP	ROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	637	\$77.00	\$49,049.00	\$84.00	\$53,508.00	\$95.00	\$60,515.00
6 36" POLYP	ROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	201	\$85.00	\$17,085.00	\$94.00	\$18,894.00	\$105.00	\$21,105.00
7 42" POLYP	ROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	135	\$109.00	\$14,715.00	\$117.00	\$15,795.00	\$125.00	\$16,875.00
	STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "B-B", IS, COMPLETE IN PLACE	EA	33	\$1,592.00	\$52,536.00	\$3,000.00	\$99,000.00	\$1,920.00	\$63,360.00
	STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "B-B", E IN PLACE	EA	33	\$2,026.00	\$66,858.00	\$650.00	\$21,450.00	\$1,280.00	\$42,240.00
	STANDARD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", IS, COMPLETE IN PLACE	EA	2	\$2,034.00	\$4,068.00	\$3,000.00	\$6,000.00	\$3,120.00	\$6,240.00
11 STAGE II – COMPLETE	STANDARD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", E IN PLACE	EA	2	\$1,939.00	\$3,878.00	\$1,100.00	\$2,200.00	\$2,080.00	\$4,160.00
	D TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL	EA	35	\$3,313.00	\$115,955.00	\$3,600.00	\$126,000.00	\$3,150.00	\$110,250.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024 LJA ENGINEERING, INC. E. MURPHY

5) CROSTEX CONSTRUCTION INC.

6) CE BARKER LTD.

JUNE 6, 2024 0390-2321 (9.2)

4) BLAZEY CONSTRUCTION SERVICES LLC

			7).	DETECT CONCINCO	ION OLIVIOLO LLO	0) 01100127 0011	STRUCTION INC.	O) OL Briti	KEIK ETD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, ES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$5,719.00	\$34,314.00	\$10,000.00	\$60,000.00	\$5,500.00	\$33,000.00
	RD TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER WITH " INLET TOP, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN	EA	2	\$5,785.00	\$11,570.00	\$5,500.00	\$11,000.00	\$6,000.00	\$12,000.00
	ACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE AND CONNECT SED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	1	\$414.00	\$414.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
	E AND DISPOSE OF EXISTING TYPE "E" INLET TOP AND REPLACE WITH " MANHOLE TOP, COMPLETE IN PLACE	EA	2	\$1,028.00	\$2,056.00	\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00
17 TRENCH	SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	4689	\$0.30	\$1,406.70	\$1.05	\$4,923.45	\$0.01	\$46.89
ANNISTON SE	CTION 12 STORM SEWER ITEMS SUBTOTAL:				\$614,211.20		\$678,654.45		\$676,654.89
ANNISTON SE	CTION 12 OFF-SITE STORM SEWER ITEMS								
1 48" POL	YPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	978	\$137.00	\$133,986.00	\$155.00	\$151,590.00	\$155.00	\$151,590.00
2 54" RCP	STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	135	\$334.00	\$45,090.00	\$323.00	\$43,605.00	\$500.00	\$67,500.00
	" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, ES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$5,719.00	\$34,314.00	\$10,000.00	\$60,000.00	\$5,500.00	\$33,000.00
	ACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE AND CONNECT SED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	1	\$525.00	\$525.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
	MULCH SEEDING OF DISTURBED AREAS (TO BE USED ONLY AS DIRECTED ENGINEER), COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
6 TRENCH	SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	1113	\$0.30	\$333.90	\$1.05	\$1,168.65	\$0.01	\$11.13
ANNISTON SE	CTION 12 OFF-SITE STORM SEWER ITEMS SUBTOTAL:				\$215,748.90		\$259,863.65		\$254,601.13
MISCELLANEC	OUS ITEMS								
OF UTILI VACUUN PUMPIN	ERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION ITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL M TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF G AS NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, JSED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$25.00	\$2,500.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00
CITY OF	ND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PER HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AT THE WRITTEN ON OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$15.00	\$1,500.00	\$5.00	\$500.00	\$5.00	\$500.00
CITY OF	ND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AT THE WRITTEN ON OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$15.00	\$1,500.00	\$5.00	\$500.00	\$5.00	\$500.00
LABOR A	MENT TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, JSED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE E	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
	ED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE (TO BE NLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN	EA	1	\$500.00	\$500.00	\$100.00	\$100.00	\$5.00	\$5.00

Page 11 of 19 FRN F-1366 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539

CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS

JUNE 6, 2024

LJA ENGINEERING, INC. E. MURPHY

JUNE 6, 2024 0390-2321 (9.2)

20,1002,100		4) E	LAZEY CONSTRUCT	ION SERVICES LLC	5) CROSTEX CONST	RUCTION INC.	6) CE BARKI	ER LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
6 UTILITY SPOILS FROM SECTION 12 UTILITIES TO REMAIN ON SITE, PLACED IN FRONT OF LOTS WITHIN SECTION 12, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$17,151.00	\$17,151.00	\$30,000.00	\$30,000.00	\$1,500.00	\$1,500.00
7 OFF-SITE UTILITY SPOILS TO REMAIN IN PLACE, MAINTAINING POSITIVE DRAINAGE, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$1,750.00	\$1,750.00	\$15,000.00	\$15,000.00	\$1,500.00	\$1,500.00
8 EXTRA DUCTILE IRON FITTINGS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	TON	1	\$3,330.00	\$3,330.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
9 FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	250	\$1.90	\$475.00	\$2.00	\$500.00	\$1.00	\$250.00
10 HYDROMULCH SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
11 SURFACE WATER CONTROL AND PUMPING, INCLUDES ALL PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE	LS	1	\$9,946.00	\$9,946.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
12 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS INCLUDING STREET SWEEPING, AND CONCRETE WASHOUT, COMPLETE IN PLACE	, LS	1	\$1,519.00	\$1,519.00	\$3,728.25	\$3,728.25	\$500.00	\$500.00
13 CONSTRUCT, MAINTAIN AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	LS	3	\$1,989.00	\$5,967.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00
14 BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$800.00	\$800.00	\$500.00	\$500.00	\$500.00	\$500.00
15 STAGE I INLET PROTECTION BARRIERS, COMPLETE IN PLACE	EA	49	\$61.00	\$2,989.00	\$50.00	\$2,450.00	\$10.00	\$490.00
16 EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$45.00	\$4,500.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
17 CONTRACTOR TO CONNECT PROPOSED STORM SEWER INTO EXISTING STORM MANHOLE, INCLUDES REMOVAL AND REPLACEMENT OF EXISTING STORM MANHOLE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	2	\$414.00	\$828.00	\$10,000.00	\$20,000.00	\$1,250.00	\$2,500.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$56,905.00		\$87,928.25		\$20,395.00
ALTERNATE ITEMS								
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #4, COMPLETE IN PLACE		2799	\$79.00	\$221,121.00	\$78.00	\$218,322.00	\$88.00	\$246,312.00
2 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #5, COMPLETE IN PLACE		637	\$100.00	\$63,700.00	\$98.00	\$62,426.00	\$110.00	\$70,070.00
3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #6, COMPLETE IN PLACE		201	\$140.00	\$28,140.00	\$136.00	\$27,336.00	\$175.00	\$35,175.00
4 42" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #7, COMPLETE IN PLACE		135	\$189.00	\$25,515.00	\$180.00	\$24,300.00	\$235.00	\$31,725.00
5 48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 OFF-SITE STORM SEWER ITEMS – ITEM #1, COMPLETE IN PLACE		978	\$227.00	\$222,006.00	\$216.00	\$211,248.00	\$265.00	\$259,170.00
ALTERNATE ITEMS SUBTOTAL:				\$560,482.00		\$543,632.00		\$642,452.00

BIDDING SUMMARY

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024

LJA ENGINEERING, INC. E. MURPHY JUNE 6, 2024 0390-2321 (9.2)

			4) BLAZEY CONSTRUCTION SERVICES LLC		5) CROSTEX CONSTRUCTION INC.		6) CE BAR	RKER LTD.
ITEM DESCRIPTION L	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SUBTOTAL ANNISTON SECTION 12 WATER ITEMS				\$361,987.70		\$348,011.95		\$425,848.99
SUBTOTAL ANNISTON SECTION 12 SANITARY SEWER ITEMS				\$583,175.10		\$497,566.70		\$660,598.17
SUBTOTAL ANNISTON SECTION 12 OFF-SITE SANITARY SEWER ITEMS				\$40,954.10		\$34,577.70		\$39,293.17
SUBTOTAL SANITARY SEWER ITEMS FOR LIFT STATION NO. 2 OFF-SITE SANITARY				\$185,862.10		\$218,150.70		\$196,153.47
SUBTOTAL SANITARY SEWER ITEMS FOR LIFT STATION NO. 3 OFF-SITE FORCE MAIN				\$194,890.80		\$225,246.60		\$213,880.36
SUBTOTAL ANNISTON SECTION 12 STORM SEWER ITEMS				\$614,211.20		\$678,654.45		\$676,654.89
SUBTOTAL ANNISTON SECTION 12 OFF-SITE STORM SEWER ITEMS				\$215,748.90		\$259,863.65		\$254,601.13
SUBTOTAL MISCELLANEOUS ITEMS				\$56,905.00		\$87,928.25		\$20,395.00
TOTAL AMOUNT BASE BID				\$2,253,734.90		\$2,350,000.00		\$2,487,425.18
ALTERNATE ITEMS								
TOTAL AMOUNT BASE BID				\$2,253,734.90		\$2,350,000.00		\$2,487,425.18
DEDUCT ANNISTON SECTION 12 STORM SEWER ITEMS ITEM NO.4				-\$158,143.50		-\$173,538.00		-\$209,925.00
DEDUCT ANNISTON SECTION 12 STORM SEWER ITEMS ITEM NO.5				-\$49,049.00		-\$53,508.00		-\$60,515.00
DEDUCT ANNISTON SECTION 12 STORM SEWER ITEMS ITEM NO.6				-\$17,085.00		-\$18,894.00		-\$21,105.00
DEDUCT ANNISTON SECTION 12 STORM SEWER ITEMS ITEM NO.7				-\$14,715.00		-\$15,795.00		-\$16,875.00
DEDUCT ANNISTON SECTION 12 OFF-SITE STORM SEWER ITEMS ITEM NO.1				-\$133,986.00		-\$151,590.00		-\$151,590.00
SUBTOTAL ALTERNATE ITEMS				\$560,482.00		\$543,632.00		\$642,452.00
TOTAL AMOUNT INCLUDING ALTERNATE ITEMS				\$2,441,238.40		\$2,480,307.00		\$2,669,867.18

Page 13 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

IN PLACE

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024

LJA ENGINEERING, INC. E. MURPHY

JUNE 6, 2024 0390-2321 (9.2)

7) ICON GC LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
	STON SECTION 12 WATER ITEMS	OIVII	QII	01411 0001	101AE 0001
	8" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING FITTINGS, COMPLETE IN PLACE	LF	3294	\$42.00	\$138,348.00
2	RESTRAINED JOINT 8" PVC WATER LINE, AWWA C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	2045	\$68.00	\$139,060.00
3	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	16	\$2,050.00	\$32,800.00
4	8" PLUG AND CLAMP WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	3	\$1,590.00	\$4,770.00
5	FLUSHING VALVE, ALL DEPTHS, INCLUDES APPROPRIATE TEE, $6^{\circ}$ GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	12	\$6,000.00	\$72,000.00
6	WET CONNECTION (ALL SIZES), INCLUDES REMOVAL AND DISPOSAL OF EXISTING PLUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE, COMPLETE IN PLACE	EA	3	\$1,150.00	\$3,450.00
7	12" STEEL CASING FOR 8" PVC PIPE, EXCLUDES CARRIER PIPE, INCLUDES FITTINGS, SPACERS, AND PLUGS, ALL DEPTHS, COMPLETE IN PLACE	LF	248	\$13.00	\$3,224.00
8	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	5399	\$0.01	\$53.99
ANNI	STON SECTION 12 WATER ITEMS SUBTOTAL:				\$393,705.99
ANNI	STON SECTION 12 SANITARY SEWER ITEMS				
1	8" PVC SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 0'-8' CUT, COMPLETE IN PLACE	LF	688	\$45.00	\$30,960.00
2	$8^\circ$ PVC SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETE IN PLACE	LF	2060	\$48.00	\$98,880.00
3	8" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	1412	\$56.00	\$79,072.00
4	$6^\circ$ SANITARY FORCE MAIN, AWWA C-900, CLASS 235, DR 18, ALL DEPTHS, COMPLETE IN PLACE	LF	1276	\$43.00	\$54,868.00
5	RESTRAINED JOINT 6" SANITARY FORCE MAIN, AWWA C-900, CLASS 305, DR 14, COMPLETE IN PLACE	LF	180	\$55.00	\$9,900.00
6	PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	28	\$3,050.00	\$85,400.00
7	EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), COMPLETE IN PLACE	VF	78	\$152.00	\$11,856.00
8	STANDARD 8" SANITARY SEWER DROP ON M.H. (0'-3'), COMPLETE IN PLACE	EA	4	\$1,650.00	\$6,600.00
9	EXTRA DEPTH FOR ALL SANITARY DROP STRUCTURES AT MANHOLE (OVER 3' DEPTH), ALL SIZES, COMPLETE IN PLACE	VF	6	\$14.50	\$87.00
10	"LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1876	\$54.50	\$102,242.00
11	"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE	EA	28	\$1,880.00	\$52,640.00

FRN F-1386 Page 14 of 19

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539

CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024
LJA ENGINEERING, INC.
E. MURPHY

JUNE 6, 2024

0390-2321 (9.2)

### 7) ICON GC LLC

				7) ICON G	SC LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
12	1" AIR RELEASE VALVE ASSEMBLY FOR SANITARY FORCEMAIN, INCLUDES SERVICE MANHOLE, COMPLETE IN PLACE	EA	1	\$11,600.00	\$11,600.00
13	6" PLUG, COMPLETE IN PLACE	EA	1	\$519.00	\$519.00
14	CONNECT PROPOSED 8" PVC SEWER PIPE TO EXISTING SANITARY SEWER MANHOLE, (CORE DRILL), COMPLETE IN PLACE	EA	3	\$1,090.00	\$3,270.00
15	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	7817	\$0.01	\$78.17
ANNI	STON SECTION 12 SANITARY SEWER ITEMS SUBTOTAL:				\$547,972.17
ANNI	STON SECTION 12 OFF-SITE SANITARY SEWER ITEMS				
1	6" SANITARY FORCE MAIN, AWWA C-900, CLASS 235, DR 18, ALL DEPTHS, INCLUDES FITTINGS, COMPLETE IN PLACE	LF	206	\$55.00	\$11,330.00
2	RESTRAINED JOINT 6" SANITARY FORCE MAIN, AWWA C-900, CLASS 305, DR 14, INCLUDES RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	111	\$66.00	\$7,326.00
3	PRECAST CORROSION RESISTANT SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$4,380.00	\$4,380.00
4	1" AIR RELEASE VALVE ASSEMBLY FOR SANITARY FORCEMAIN, INCLUDES SERVICE MANHOLE, COMPLETE IN PLACE	EA	1	\$11,600.00	\$11,600.00
5	CONNECT PROPOSED 12" PVC SEWER PIPE TO EXISTING SANITARY SEWER MANHOLE, (CORE DRILL), COMPLETE IN PLACE	EA	2	\$1,290.00	\$2,580.00
6	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	317	\$0.01	\$3.17
ANNI	STON SECTION 12 OFF-SITE SANITARY SEWER ITEMS SUBTOTAL:			4 /	\$37,219.17
SANI	TARY SEWER ITEMS FOR LIFT STATION NO. 2 OFF-SITE SANITARY				
1	12" PVC SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 0'-8' CUT, COMPLETE IN PLACE	LF	181	\$68.50	\$12,398.50
2	12" PVC SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETE IN PLACE	LF	703	\$75.00	\$52,725.00
3	12" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	164	\$90.00	\$14,760.00
4	12" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	799	\$95.00	\$75,905.00
5	PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	LF	6	\$3,050.00	\$18,300.00
6	EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), COMPLETE IN PLACE	VF	41	\$1.00	\$41.00
7	VENTED SANITARY SEWER MANHOLE FOR $6^{\circ}\text{-}24^{\circ}$ SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$6,050.00	\$6,050.00
8	STANDARD 12" SANITARY SEWER DROP ON M.H. (0'-3'), COMPLETE IN PLACE	EA	3	\$3,640.00	\$10,920.00
9	EXTRA DEPTH FOR ALL SANITARY DROP STRUCTURES AT MANHOLE (OVER 3' DEPTH), ALL SIZES, COMPLETE IN PLACE	VF	3	\$1.00	\$3.00

Page 15 of 19 FRN F-1366 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS

CITY OF HOUSTON E.T.J., JUNE 6, 2024 LJA ENGINEERING, INC. E. MURPHY

JUNE 6, 2024

0390-2321 (9.2)

# 7) ICON GC LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
10	HYDROMULCH SEEDING OF DISTURBED AREAS (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00
11	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	1847	\$0.01	\$18.47
SANI	TARY SEWER ITEMS FOR LIFT STATION NO. 2 OFF-SITE SANITARY SUBTOTAL:				\$192,120.97
SANI	TARY SEWER ITEMS FOR LIFT STATION NO. 3 OFF-SITE FORCE MAIN				
1	10" SANITARY FORCE MAIN AWWA C-900, CLASS 235, DR 18, ALL DEPTHS, INCLUDES FITTINGS, COMPLETE IN PLACE	LF	2307	\$71.00	\$163,797.00
2	RESTRAINED JOINT 10" SANITARY FORCE MAIN, AWWA C-900, CLASS 305, DR 14, INCLUDES RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	302	\$126.50	\$38,203.00
3	10" PLUG, COMPLETE IN PLACE	EA	2	\$907.00	\$1,814.00
4	10" ISOLATION VALVE & BOX, COMPLETE IN PLACE	EA	1	\$3,370.00	\$3,370.00
5	1" AIR RELEASE VALVE ASSEMBLY FOR SANITARY FORCEMAIN, INCLUDES SERVICE MANHOLE, COMPLETE IN PLACE	EA	3	\$15,450.00	\$46,350.00
6	ADDITIONAL COST TO BORE AND JACK PROPOSED 10" SANITARY FORCE MAIN UNDER EXISTING CENTERPOINT ENERGY GAS LINE AND CONSOLIDATED COMMUNICATIONS AND EXISTING KATY HOCKLEY ROAD, (DOES NOT INCLUDE PIPE), COMPLETE IN PLACE	LF	73	\$192.00	\$14,016.00
7	HYDROMULCH SEEDING OF DISTURBED AREAS (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00
8	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	2536	\$0.01	\$25.36
SANI	TARY SEWER ITEMS FOR LIFT STATION NO. 3 OFF-SITE FORCE MAIN SUBTOTAL:				\$268,575.36
ANNI	STON SECTION 12 STORM SEWER ITEMS				
1	24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	656	\$100.00	\$65,600.00
2	30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	211	\$134.00	\$28,274.00
3	42" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	50	\$254.00	\$12,700.00
4	24" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	2799	\$92.00	\$257,508.00
5	30" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	637	\$113.00	\$71,981.00
6	36" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	201	\$126.00	\$25,326.00
7	42" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	135	\$178.00	\$24,030.00
8	STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "B-B", ALL DEPTHS, COMPLETE IN PLACE	EA	33	\$2,070.00	\$68,310.00
9	STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "B-B", COMPLETE IN PLACE	EA	33	\$2,180.00	\$71,940.00
10	STAGE I – STANDARD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,500.00	\$5,000.00
11	STAGE II – STANDARD 10' REINFORCED CONCRETE PRECAST INLET, TYPE "C-1", COMPLETE IN PLACE	EA	2	\$3,970.00	\$7,940.00
12	STANDARD TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	35	\$3,700.00	\$129,500.00

Page 16 of 19 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024

LJA ENGINEERING, INC. E. MURPHY

JUNE 6, 2024

7		0	$\sim$	NI	G	~	1	١.	$\sim$
1	)	U	U	IN	G	U	ш	Ľ	$\overline{}$

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
13	TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$6,100.00	\$36,600.00
14	STANDARD TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER WITH TYPE "E" INLET TOP, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$6,000.00	\$12,000.00
15	CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE AND CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	1	\$1,170.00	\$1,170.00
16	REMOVE AND DISPOSE OF EXISTING TYPE "E" INLET TOP AND REPLACE WITH TYPE "C" MANHOLE TOP, COMPLETE IN PLACE	EA	2	\$558.00	\$1,116.00
17	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	4689	\$0.01	\$46.89
ANNI	STON SECTION 12 STORM SEWER ITEMS SUBTOTAL:				\$819,041.89
ANNI	STON SECTION 12 OFF-SITE STORM SEWER ITEMS				
1	48" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, COMPLETE IN PLACE	LF	978	\$192.00	\$187,776.00
2	54" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	135	\$395.00	\$53,325.00
3	TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$6,100.00	\$36,600.00
4	CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE AND CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	1	\$1,150.00	\$1,150.00
5	HYDROMULCH SEEDING OF DISTURBED AREAS (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00
6	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	1113	\$0.01	\$11.13
ANNI	STON SECTION 12 OFF-SITE STORM SEWER ITEMS SUBTOTAL:				\$279,862.13
MISC	ELLANEOUS ITEMS				
1	DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION OF UTILITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$28.00	\$2,800.00
2	WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00
3	WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00
4	ADJUSTMENT TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00
5	CRUSHED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$5.00	\$5.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539

CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024

LJA ENGINEERING, INC. E. MURPHY

JUNE 6, 2024 0390-2321 (9.2)

# 7) ICON GC LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
6	UTILITY SPOILS FROM SECTION 12 UTILITIES TO REMAIN ON SITE, PLACED IN FRONT OF LOTS WITHIN SECTION 12, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$29,712.32	\$29,712.32
7	OFF-SITE UTILITY SPOILS TO REMAIN IN PLACE, MAINTAINING POSITIVE DRAINAGE, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$6,400.00	\$6,400.00
8	EXTRA DUCTILE IRON FITTINGS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1,000.00	\$1,000.00
9	FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	250	\$2.20	\$550.00
10	HYDROMULCH SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00
11	SURFACE WATER CONTROL AND PUMPING, INCLUDES ALL PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE	LS	1	\$250.00	\$250.00
12	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING, AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$3,200.00	\$3,200.00
13	CONSTRUCT, MAINTAIN AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	LS	3	\$150.00	\$450.00
14	BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$500.00	\$500.00
15	STAGE I INLET PROTECTION BARRIERS, COMPLETE IN PLACE	EA	49	\$105.00	\$5,145.00
16	EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00
17	CONTRACTOR TO CONNECT PROPOSED STORM SEWER INTO EXISTING STORM MANHOLE, INCLUDES REMOVAL AND REPLACEMENT OF EXISTING STORM MANHOLE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	2	\$1,170.00	\$2,340.00
MISC	ELLANEOUS ITEMS SUBTOTAL:				\$56,502.32
ALTE	RNATE ITEMS				
1	$24^\circ$ RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #4, COMPLETE IN PLACE	LF	2799	\$99.50	\$278,500.50
2	30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #5, COMPLETE IN PLACE	LF	637	\$110.00	\$70,070.00
3	36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS - ITEM #6, COMPLETE IN PLACE	LF	201	\$255.00	\$51,255.00
4	42" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 STORM SEWER ITEMS – ITEM #7, COMPLETE IN PLACE	LF	135	\$275.00	\$37,125.00
5	48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, TO BE USED IN LIEU OF ANNISTON SECTION 12 OFF-SITE STORM SEWER ITEMS – ITEM #1, COMPLETE IN PLACE	LF	978	\$412.00	\$402,936.00
ALTE	RNATE ITEMS SUBTOTAL:				\$839,886.50

BIDDING SUMMARY

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 12, OFF-SITE SANITARY TO SERVE ANNISTON LIFT STATION NO. 2. & OFF-SITE SANITARY FORCE MAIN TO SERVE ANNISTON LIFT STATION NO. 3 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 6, 2024

CITY OF HOUSTON E.T.J., H. JUNE 6, 2024 LJA ENGINEERING, INC. E. MURPHY

JUNE 6, 2024 0390-2321 (9.2)

# 7) ICON GC LLC

Page 19 of 19

				,	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
SUBTOTAL ANNISTON	SECTION 12 WATER ITEMS				\$393,705.99
SUBTOTAL ANNISTON	SECTION 12 SANITARY SEWER ITEMS				\$547,972.17
SUBTOTAL ANNISTON	SECTION 12 OFF-SITE SANITARY SEWER ITEMS				\$37,219.17
SUBTOTAL SANITARY	SEWER ITEMS FOR LIFT STATION NO. 2 OFF-SITE SANITAL	RY			\$192,120.97
SUBTOTAL SANITARY	SEWER ITEMS FOR LIFT STATION NO. 3 OFF-SITE FORCE	MAIN			\$268,575.36
SUBTOTAL ANNISTON	SECTION 12 STORM SEWER ITEMS				\$819,041.89
SUBTOTAL ANNISTON	SECTION 12 OFF-SITE STORM SEWER ITEMS				\$279,862.13
SUBTOTAL MISCELLA	NEOUS ITEMS				\$56,502.32
TOTAL AMOUNT BASE	E BID				\$2,595,000.00
ALTERNATE ITEMS					
TOTAL AMOUNT BASE	BID				\$2,595,000.00
DEDUCT ANNISTON S	ECTION 12 STORM SEWER ITEMS ITEM NO.4				-\$257,508.00
DEDUCT ANNISTON S	ECTION 12 STORM SEWER ITEMS ITEM NO.5				-\$71,981.00
DEDUCT ANNISTON S	ECTION 12 STORM SEWER ITEMS ITEM NO.6				-\$25,326.00
DEDUCT ANNISTON S	ECTION 12 STORM SEWER ITEMS ITEM NO.7				-\$24,030.00
DEDUCT ANNISTON S	ECTION 12 OFF-SITE STORM SEWER ITEMS ITEM NO.1				-\$187,776.00
SUBTOTAL ALTERNAT	TE ITEMS				\$839,886.50
TOTAL AMOUNT INCL	UDING ALTERNATE ITEMS				\$2,868,265.50

FRN F-1386 LJA Engineering, Inc.